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Don’t Overreact: More Reactions Practice!

Part I: Complete the following chart. {Balance the reactions if you want more practice!)

Reaction Type of Reaction
' A/B, PPT, Redox?

1. Cats) + 21,00 > Ba@atag) + _ Ha(g) Red oY

1. The diagram above best represents which type of reaction?

3. Consider the following three equations for chemical reactions:

2. A NHF(ag) + __ Sr(CI0s)z > O NH.CIOs(ag) + __SrF n) 9
(aq) |
3. (HNO:(aq) .jﬁamq)—> LiNOx(a) + | H:00) nfﬂﬂi | B
4, Q_Lil(aq) + ___Pb(NOs)2(aq) - ﬂLiNog(aq) + _Pbl@ FP{“
5. 2 ouf 1.8, (@) - G + B Eo%g | Redox
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a. Acid/base : c. Precipitation

@ Oxidation/reduction d. Decomposition

2. If we dissolve 25 grams of salt in 251 grams of water, what is the mass of the resulting solution?

a. 251g 276 g c. 226g

2A5+25 |

P2
2 lela(s) + COIZ (g) = ;’NaCI(s) reﬁ(&){

2 NaCl(aq) + Pb(NQ3),(ag) @+ 2 NaNO5(aq) (!)’{3 N
Na@(aq) @Br(aq) —Lt H20§ Z) + NaBr(ag) A/B

These are examples of:
a. threeredox reactions a redox reaction, a precipitation reaction, and an acid-base reaction

b. three acid-base reactions d. a neutralization reaction, then two precipitation reactions
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| LR (Poy) ¢ 2 BaBe, 1B, (PO, + ERTAS
4. Given the net ionic equation Z
3 Ba%* (aq) + 2 PO}~ (aq) ~ Bag(PO4)2(s)
how many grams of iron (i) phosphate must be present to react with 2.0 X 102 grams of barium bromide?
_ (MW Fes(POa)2 = 357 g/mol, MW BaBr, =297 g/mol)
@ .
1 molBaBry 1mol Fes(POs); 3575 Feq(POy)2

200g Bal: ,
Og BaBra X ooy Bogr, . 3molBabr,  1molFes(POs)
B
1ol BaBr, 2molFeiPO 357g Fea (PO,
200g BaBry % 2y al. sﬂzx g alP04)z
297g Babry 3ol Bulr 1mol Feg(POy)z
C
1 mol BaBr, 3molFey{PO 3575 Fes (PO
200g BaBry X —eme—m X 5(POy), 3575 Fey(POs)a
297g BaBry 1mal Babry 1 mol Feg(POy)a
D

1 molBaBr; 3wmol Fes(P0y);  357g Feg(POy)2

200g BaBr; X x
g BeBry X ooy BeBr, . 2molBaBr,  imolFes(POs):

5. |f solutions containing equimolar amounts of AgNO3 and KCl are mixed, what is the identity of the spectator ions?
a. Ag', NOs;~, K* and CI® ¢. Ag'andK"

b, AgandCl” @ NO;~ and K

6. Choose the correct net ionic equation representing the reaction that oceurs when solutions of potassium carbonate
and copper (1) chloride are mixed.

a. K,C05(aq) + 2 CuCl{aq) = 2 KCl(ag) + Cu,CO5(s)

b. K,C0s(aq) + 2 CuCl(ag) = 2 KCl(s) + Cu,CO5{aq)
@ C0% (aq) + 2 Cu*(aq) - Cu,CO5(s)

d. K*(aq)+ Cl"(agq) — KCI(s)
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7. Which of the following diagrams best represents what is happening on a molecular level when Nacl dissolves in
‘water?

Use this information to answer #8-9: When sodium sulfite(aq) is added to nitric acid, aqueous sodium nitrate and two
other products are formed.

8. What is the balanced net-ionic equation for this reaction?

a. NazSOa(aq) +2 HNOs(aq) — 2 NaNOs(aq) + H,0(l) + $O:(g) @ 2 H*(aq) + 505 (ag) — H.0(l) + SO5(g)

b. Na»SOsz(ag) + 2 HNOs(aq} — 2 NaNOs(aq) + H250s(aq) d. 2 H'{aq) + 503%{aq) - H250s(ag)
+2WNO,, > 2 i | + 8D
- N"‘ ( l) F2HN 3(aq) Na N 3(4‘;)) - D(é) ?'Cj)
not STet
9. 1f 0.62 g of sodium sulfite is added to excess nitric acid, how many mL of gas will be evolved @Hg and 27°C?
(The molar mass of sodium sulfite is 126 g/mol).
a. 0.018 mL b. 0.20mL . 13mL 150 mL 300 K
D.Cazo) NAZSO_‘{ Vo « \ SD‘Z -O(ﬂz 9_7: | JL/X/O,S_)([O;L
X SD |2 Cax °
l?_(ég, \ NQ \2(0 ‘:SX'O’-ngol SO&
Yo BT (Sgmaler spimn30ok) = 6 rmel £0,
i CYAS 'MM\J(j

W%)GW) ~150 pl
'/Sz




